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Instructions for the candidates :

, |

' Candidate must enter his / her

Question Booklet Serial No.

(10 Digits) in the OMR Answer

Sheet.

Candidates are ré@ired to give their

‘answers in their own words as far

as practicable.

Figures in' the right hand margin

indicate full marks.

15 minutes of extra ﬁ'm.é have been
aliotted for the candidates to read
the questions carefully.

This question booklet is divided into
two  sections

Section-A and

—_—

Section-B.
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WUE - A / SECTION - A
El'(ﬁ&l‘&! W / Objective Type Questions
gy ST 1# mea‘ra‘rna‘iarmé;mwﬁmﬁfvﬂ??ﬂ ﬁw##@"‘?@??’

o= gRT g7 T Wt e w5t omvﬁaw_%ﬁaﬁﬁ;&a?asmwméf

35 x1 =35
Question Nos.. 1 to 70 have four options, out of which only one is correct. You have to .
mark your selected option, on the OMR-Sheet. Answer any 35 guestions. 35x1=35
(a) T | . (B A
) Tadsid - o) T H
Mens-trual cycle occurs.in ) :
_ ' Human _ — (B). | Monkey
. (C) . Chlmpanzee ' " W All of these
() P
-y/m)aﬂna;aﬁiﬁ g’ © T HIE T
Binary fission occurs in - | ' -
(A)  Amoeba - o (B} Paramecium
(C) . Both (A) and (B) . (D) None of these
7 @,ﬁq:qqawgﬁzqﬁzﬁﬂq 18%%a’rqﬁsﬁ=rmuﬁ¥mwﬁﬂ ?
T @ ed E . B 36
© '8 | (D) 32
Ina DNA molecule, the cytosine _is 18%, then the percentage of adenine will be
@ 64 . B 36 |

(© 85 e w

[119] D [(A)-9009-Dsq

Prev?gﬁg ‘:i’%ftaghél'a



4,
B) RIS
c) TH ()
Widal test is done to confirm : oid
. ol
(A) Malaria (B) ’I_‘yp cor
Y AIDS (D)  Can
/wﬁmﬂﬁmﬁﬁmwwmﬁ? -
(A BN ' | (B) TR o
© ehRdferer Bk D) TV ﬁﬁm
HIV attacks on which of the followmg cells 71
(A) B-cell : \)X T-cell
(C) Epithelial cell 1 — \_/)/ T—helper cell
6, R werd o et e SR g ¥, < e E
(A)  UeFeH us : ® T
(© o D) o u
The substances to which an immune fes _ :
(A)  Allergens ' ’ o (I;THSB;S prf’duced, are called
( Antibodies o o) accines .
" _ ' Anti :
7. - gen
o Gl & RO Seher et T ¥ >
A e - A
| B) ’
\(,9/“”‘1 B FH | R
Chemicg) re'leased (D) = ) S
d
@) I ue to alle;‘gy is ﬁé T2f
(C) . '
Both (4) anqg (B) (B) Sero;
Oonin




8.

10. -

11.

(B)  Antipodals

(C)  Synergids
. : (DY Secondary nucleus
/W - .-’W%Fﬁ%’r%mﬂaaﬁwaﬁ% T UAT Y FT Fed & 2

@ Wk ® e

© s

.One gene pair hides the effect of another gene pair. This phenomenon is

Epistasis = — (B] ‘Dominance

(C)  Mutation. | ; » (D) .. ;None of these .

Zigwt mﬁwvﬁmﬁﬁqmwwﬁwmmﬁ
s &, aﬁwwﬁ%ff_ ; 1d
s B T g e e
© wHrwmes (D) WA HIH

A sequence of three bascs on tRNA which bmds to mRNA codon is

{A] " Triplet (B)° Non-sense codon

(C) Anticodon (D)  Termination codon
ST dwt o aﬁﬁﬁqﬂaﬁﬁmﬁwﬂﬂm% WWW% ?

(A) et | | ?ﬁ?ﬂﬂl |
© fay (D) ¥
The group of Wuchereria bancrofti which.causes filaria in human being is

(B) Bacteria

(A)  Protozoa
(D)  Helminth

(C) . Virus
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g1 T
e O @ gY@ P |
12. R IDED il
( 3
(A EE |
(D) HH
(C) wEH e intake of alcohol ?
Which organ of the body is most affected by excesSIVE
ich org :
{A) Lungs (B) Liver
(C)  Spleen (0)  Stomach
‘1/3,/ TTeel & FrER &1 06 IIER &
() wuiE (B)  gEF &I Gl
Je*/ EATTAT (D)  FHGA T
An exception of Mendel's law is
(A) | Dominance (B} Purity of gamete
JASY  Linkage (D) Independent assortment
14/ F= 9 4 %1 4 dafia 2 & o ‘
L
{A) AL 7 2
(By &SI

ICl W@ty _

Which of the foll{)wing is a sexual] .

A Typhoiq Y ransmitted disease »

€1 Malaria (B) _ Cholera

"} wwe § DY Syphilis
(A) ' n
qﬁﬁ:ﬁ W |

o g B e gy
Echbdna is

A o (D) W wr s




(A T womfy
(SR — B e v
Dodo is - B . (D) = {5
(A)”  Extinct species
(C) Threateneq Species (B)  Endangered species
'17 AT mﬁq ' ) % . (D) None of these
: M T sy o -
(A) '?HUEIU_!
[ - ' (B) Yoty
© D) T
Which of the followmg is a d1p101d structure ? o
(A) Ovum . : : "[B)_ Endosperm | |
(©)  Zygote | . (D) “All of these
18. ﬁﬂﬁ@ﬁ?ﬁﬁﬂ?ﬁqﬁﬁ%? A=
'(A] faemer _ -1 YA ?F%??r
@ wewm ) .tf%‘ﬁm
Which one 1s hydmthth plant 2 | - :
()  Trapa - (B) Opuntia
(€) . Dalbergia . (D Acaca
\/ﬂﬁc‘rﬁ hIFTeRTE qm”r Gﬂ?ﬁ %
¥ A]. g7 5 (B) T |
© seREE Com A
Sertoli cells are found in | _
- Te‘stis (B) U,tems
(€) Ovary . (D) Liver

05D e T i

AY 00’19 19003-Dea|
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A fewefy
(B)
©  rwre
Triple any; (D)
;J: Piphiherig Pt sed for
) T}'phqid _ (B]
{A"guog_nlaqj [D)

. s gy YA 2

——h Y o qmr{ih w) AR 44 b XY
an ‘ (B ¥

inl aaq + XX D) 46 *

Nosnhier of chrnmpsemes i hrmn J_!J)/«M ¥ XY

T :: ) 46 + XX

,’Kﬂ a6 4

21 ,‘z!; ;‘,‘;‘mifﬂﬂ f‘]‘,ﬂ ?m 1}" ?rTaﬁHﬂ a ?
) qfgersr ST

() IR EE® (D) feret

Riuno sanctuaty is located in which state ? ‘

(A)  Assam (B) West Bengal

(€©)  Uttar Pradesh (D) Bihar
22 wew % wmkinfes 9 g @ &

(A) WEITER wE EimA B T T g

(€) W e gifee .

. (D) AT e ‘q\i‘%a

Pyrimidines present in RNA are

) Cytosine and Thymine (B)

(€)  Cytosine and Uracil D Adenine anq Guanine
23§ i ) Thymine and Uracjl

Ty

pertusis




a. A whs
2 fAi=y 4y LRDY Wiz ha sy

{A) ﬁ««'l’);;

1

(C) sy g1 &5 DT N

’ Yy
Which of (he rollnwing is no .

(A) Mcthane

(C) co, h)
(D)
25. STF U 3UE ufag @
a) gl & fag (B
Kanha National Park is famous for

(A) Birds J.B(

(C) Rhinoceros (D)

}/ﬁﬂr T HF AR GEA T 9 T & 7

[A]. W, ﬁé 3ﬁ? HH (B}
(&, w9 (D)

D IR AR C e

ANFETAEY

& greenhouse gas »

Chlaralugrnearbnn

Nitrogen

it & fam
ufgarer & e

Tigers

Crocodiles

U, Toe AR S

Which of the following is the correct food chain ?

- (A) Grass, Wheat and Mango (B)
G~ Grass, Goat and Lion (D)
(A) IR + TF AR Jb 39 (B)
(C) FTEZIoH g o9 + BIEHe (D)
Nucleoside is _
\_(A')/ Sugar + a nitrogenous base (B)
(C)  Nitrogenous base + Phosphate (D)
-_—--h-‘—l-___

[11

PreviousPathshate—

Goat, Cow and Grass

Grass, Fish and Goat

Tl Q@ HE A

Sugar + PhosPhate
None of these

°]D |{i&]-9009-D(341
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5 'ﬁ:ﬁz Rrior =) HED O
my At

i @ g Tl

@ RERAlEE

) @SAEa D)

The process of formation of gametes is called
ra

q&.’}/ Gamctogcnesis (B3) Cytokinesis

(C) Sporogencsis (D) None of these
20. HE GomE &
() CEEfERICS | (B) T
© e (D) AT
Restriction enzymes are
(A) Exonuclease - (B) Endonuclease
(C) Ligase (D) Polymerase
397 i sEe A et we w9 o & "
(A)  TART S (B) " WHISAT i
(€ uffaest dx =it , (D)  (A) 3R (B) =T =t
In National Park, protection is provided to
EA] | Flora (B) Fauna
E ' '
| o Beosystem ) Both (4) and (g
- ETEE IeRsar Rrad defug & ?
(A)
Y SEE (B) YRR
@ wrgERy :
Secons D) FH F 3 7
i . .
N ary Productivity js related to
1 ProduceIB .
© o (B) Herbivores

| 11 _Tivores :
Sip ) None of thege
)
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32.

q o
RS Ny
ARG
(A) e TY &y
(C) e} u) T 5 4 B Tl s cover o yanre WO
_ C uy
Pastcuriyzg; ' St o
CUurization jg heaiing of M ER
(A) milk only
(C  liqui
) ) any ligquid ay 7000 {1y any liguidd abave 100V
}3: iRy St = (1) none of these
(A) THE-wRY
B) fgwrdy
©) =y
(D)  sg-wha

The wall of pollen grain is
(A). Singlel

| . i (B) Double laycred
(@ Triple laycred (D)

33 e 3 gt

Multi-layered

©) OEEE D) dFa W
_ T—lymphocyte originates from
) Bone marrow _ (B) Stomach
(C) Thymus (D)  Liver
35. EcoRI USIgq & @A € |
(A) Bam H1 | (B) E.coli
(C) (A) R (B)THI (D)  Hind111
Source of EcoRl enzyme is
(A) Bam H1 _ (B) E.coli
(C) Both (A) and (B) - (D) Hindl1l11
PreviousPathshata

[119 1 D [(A)-9009-D34)| Page 11 of 24




LA

36.
. - (B) Fo-id
(A) g - |
R (B) < o)  ErErser
© (4 ¥R (B) S
- ing i i i lant(s) *
Which of the following is/are insectivorous p |
| (A)  Drosera (B) | Nepenthes
(C) Both (A)and (B) (D) Hydrilla
y./' fr T § W1 Sy g E 2 |
oW @ ¥
© @ R @) & D) e
Out of th'c,_'followi_ng which one is hermaphrodite organism ?
lA) - Hen - ; - 2 [B) Snake
©  Both (A} and (B) ” ., YAl Earthworm
38 Mﬁwﬁq_ﬁ-@w%j- ;
W LU BTy
Chlorella is a type of. | |5”.\$]§3[ I
M Algae -
' Pro:z;)a (B) Bacteria

. B} single cen o
‘/aﬂé?ﬁqwgmwaﬁm?\.v _ © cell protein




/ﬁmﬁ@é@qﬁﬁqg%éﬁ% :
(A) q@#\qaﬂ_{w

. B) WA AR gEfET
(C) Q@:ﬁ:[ 3k . |
- D v "
Purine bases of DNA are (D) = I}(IEF\TE' EEA
(A) Adenine ang
Cytosine _
(B)  Cytosine and Thymine
, Adenine and Guanine o) e 10 © and _

) Fﬁamm.
(C) (Alaﬁ?(s)aﬁ--”

Cancer is caused by
. (A) Bactcria {B) On_cogeﬁes

(C) Both (Ay and (B) _ . (D). . None of these

42.  EH WS W @ e R 2.

(A)  3TeinTR YA - (B) N TS
© (A ¥R (B) Sl (D) FTHIEWE :m"r
Which one of the folIOWJng is possible in m1cropropagat10n ?
(A) Ascxual reproduchon ' (B) Sexual reproductmn
(C) Both (A) and (B) o (D)  None of these

43, fore wet ¥ SisteieT @ SR 2

(A) STEI®RST (B) Slcie

(€ ILE | (D) - @ =

Aril is edible in which of th.c following fruits ? ‘

(A) Myristica ' : (B) Litchi -

(C) Annona o (D) All of these
—_— Previous Pathshala
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‘{B) [GIES e
(A) v . .

(D) g?ffh?rﬂ"ﬂ
(c) HFD

Indicator of SO, pollution is . \}/ Lichen
) 1C
(A) Algae :

| (D)  Allof these
(C) Fungi o _
45. S W (AU I w8 2 JB/
) R R T )
(©) e myEeEl D) (m) R (B) I

Honey is made by

(A) . Male honeybee | (B) + “"Queen honeybee
(C)  Worker honeybee . (D)~ Both (A) and (B)
sp” P i el et e it #172
(A ¥ . , g B) T
&V’([A) 3171’_(13] ) @ (D) ﬂ:a@H '

Which disease¢ is found in hen ?
(A) - Cholera
(€)  Both (A) and (B)

Ww@mwmmq@vﬁa
(A) Sitemy

(B)  Smut
\P)/Ragikhet
& wghT @Eﬂmm% ?

(B)  Sidfyere

use of which microbe 7
Virus (B)

_ Lactobacilfus

Yeast




}s/@ﬂﬁaﬁm@mﬁmm% ?

(A) Ty

©  wEew B) gt v
Agarose ig extracteq fl‘om D) = @ o
[A) ' Maj.ae

(C) Cycas _ o y Sca weeds
Dy e
/Sﬁcﬁt{ THiger f o - (D) I‘{onc of these

(A) Eﬂa‘ﬂqﬁmm '

| “(B) . e
C SiehTe
© WW O R

Operon model was pfop_oSed by'-- .’

(A) Watson and Crick"” =(B) ' Nirenbe;'g

Jacob and Monad (D) None of them

" 50 anﬁﬁaﬁgmr%

/U;\d/' CO,. il lﬁ) Hz

(©) CHy o) T
Biogas co:fitains _ | | |

(A) CO, S _ - (B) ‘Hy

C}i 4 . S S (D) All of these
y Hifa-afler fpg oteren ¥ el € ?
(a) wERE . (B) quﬁﬂaﬁfw
Nl i (D) SR
In which stage does crossmg -over take placc ? ‘
(A)  Leptotene B (B)  Cytokinesis
(C}  Pachytene ’ (D)  Diakinesis
\_"‘-——-—.___

—Previous Pathshala
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S

Hhd.

-

Wewitestize @ fam) i B0 & 2
apr LT *R(

(A) HIV 8] (F3)
(©) B () A R
PCR is used to detect
(A) HIV \h(/m-"" T.H.

- (D) Cancer

(C) X Cholera

A s (B) TETFRATA
© S () T W

Every living cell of plant can. give risc to the whole plant. This Property 3

known as
(A) Cloning (B) Somaclonal
ﬁ/ Totipotency (D) * _All of these
_y,/ &ﬁﬁé‘ﬁﬁﬁtﬁ%ﬂm?wﬁqur@”aﬁwmw% ?
[Al n ‘B) zn
(C) 3n <
(D) (A) 3R (C) T

w s idy leve] '
hal is the ploidy level of chremosomes in endosperm of angi i ?
ospermic plant:

(A) n
\_lg)/ a, i y 2n

(D) both (A) ang ()

(C)  Both (4
) ang (B) Asexuag] reproduction

"“1 : D .
1119]D [(A)-9065 5 ; Shalfternal fertilization -
Page 16 of 04
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56. I gl |5
j g _'1,1_1114-1 1] R PR 'f"'l“rh viy
' . B R L S I
ﬁux:l : A ,'
(C) 94 \Jﬂ/)-l
Yy A6

What ix )
SANC numiyes . -
Cr of Lhrnnms\nmn.& Present in human gameten ?

(A) 2]

©) a4 my 23
N . § Ny A6
57 dmwurgaamw‘fém?ﬂmﬁ;
A i ;
(A) Gﬁq 1 m (Bl Tr?ftr T l'l:':'f{rm;r

©  sE T (D) S0 =T HHIT

What docs Opcron model represent P
(A) Gene synthesis (B) Gene expression

(¢ Gene regulation (D) Gene function

58. T A ferment qemes @ sy o

(A)  IRI®T . \9{ T
(C) =W (D) T { wl
Thalamus is edible part in which of the following ?

JAK™ Annona , (B) Apple
(C})  Orange (D)  All of these

(m/g'mqﬁmﬁﬁﬁmmaﬂéﬁ?m% ?
(A)  Sume (B) SwRif@iwm

\{g‘(/m]aﬁ?(ajaﬁf (D) 39 9 FIS T8
DNA is genetic material of ) ‘
(A)  TMV (B~ Bacteriophag
(C) Both (A) and (B) (D) None of these

Previous Pathshala
Page 17 of 24 \\_
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 qiffRufas | @) SR "i@a‘ﬁﬁ«?ﬂ?aﬂuﬂ&?g}ﬂr%
. Ryfeeiz

zrl @ 1S AR

y

O\ gt (D)

Flow of cnergy in food chain of an ccosystcm 18

‘\JA‘}”; Unidirectional (B) Bidirectional

~ (C)  Multidirectional .(D)  None of these

61. FE T QA FHH TH Afas @R @ & 2

A)  FeiZieEey (B) afgera gRI=GRY
© e . (D) TSI
Which of the following is not a biofertilizer ? |
(A) Azotobacter - (B) Bacillus thuringiensis
(C)  Azolla : : ~ ‘ (D) Clostridium
62. &1 TT KT FHA0T Y&: ohgd §RT el 2
(A) S LBy &=
C) e (D) T gH

Tuberculosis is transmitted by

(A) Water _ : \9)/ Air

« (C) Insect ' ' Contact

63. P Rugey srjgpord aRRafy & war Pty ewar & 5

T — y S|
€ ' .
Bio-r in ong |
m;’* fea:wrﬁ M optimal conditions produce
rodygy '
©) Mediuy, o rEaniom

(D) All of these

.(A NQOOQ-BQM M@!&%



() R o
Rk L3P
© TewaiRy, '
) my .
Wh ket
Ich of (5, Bllgy, VR
1 ig no ")] hﬁi‘h‘:{{

(C) Dlphthena Se
65 ﬁm%f@?f s Eﬁ:r (B Influcnzg
TR R P Measigg
A _ el
© Heed B T gem

(D) Organic farming

66. HT-:!. ﬁl.ﬁr@.ﬁ'. o i?ﬁ_ HhT iy q@w@qﬁ% )
(A) IR | |
T - (R —

0 among the following is not related with microbiology ?

@) Louis Pasteur (B) J.D.Watson

(C) Stephan Hales

Wiy e o e & 7

(D} Robert Koch

4) -3 (B) . I-RTT q
19][) —Previous-Pathishala
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¢ 1in
Anticodons are found FB/
(-RNA
m-RNA (

[A] (D} Nonc Of thesc
(C) r~RNA
ST feTeRall T A=
() e o FE (B}
Q (A 3R (B) 2t (D) 'sFlff g &S Tl
Mendel proposed |
(A) Law of linkage (B) Law of inheritance
, yf\/ Both (A} and (B) (D)  None of these
y GelehIvT & Fagid 1 3 9T et & 2
@ e e (@) e STaege W FeEm
© g g R () R e
Law of segregation is also known as : -
" {A) Law of dominance . i . '
M - . - . (B} Law of independent assortment
aw of purity of gametes (D)  Non '
o _ | one of these
70. qﬁmﬁﬁ%ﬁnﬁmw%@m% -
(&) wiqgifirar

D) Cont:
ntinuous variati
ata

thshala on




> -9/ SECTION B

. W & gy & ) gl & fro 2 G
freriftE 10 x 2 =20
Question Nos. 1 to 20
are Short. Answer Type. Answer any 10 questions. Each question
carries 2 marks - 2=20
10X 2=

1.

- What is Amoel:nams ? Name its causal orgamsm and descnbe the symptogxs of o
this disease.

PR RAAES s S .2
What are éll_ergies ? Deé_crii)e‘its syniptoms. in brief. - | B -
‘Write the: funcnons of blood. ) U I R N : |

/ Waﬁmw% ?gqa;msﬁmaﬁ#ﬁr o . _- 2

hat is globa.l warming ? Explaln its effects

‘"What is mbreedlng 7

6. éﬂéqa;m Fev@ﬂ T TR mﬁa
Throw light on Klinefelter's syndrome.
7. #f}oqqoaﬁo W yEEI S |,
Throw light on G.M.O. o
8 Wﬁm%aﬁmmmmww@mﬁmﬁqwr

Draw a ncat and well labelled diagram of transverse sectmn of humay )
n Ovary
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10.

11.

15.

16.

ee ) Twed % HRU B ford |
Weritc reasons for success of Mendel.
e s o ) Ao HY
Define Coupling and Repulsion.
deiv § alrEE & 9uiT w 1\
Describe transcription in brief.

SR (e SR Fdie e gEgT S

Explain Biopiracy in brief.

L) (o] Y x ; .
Qg ﬁfﬁﬁ ol &ed & ,3
What is test-tube baby ?

wﬁaﬁzﬁ%qﬁ@m‘awmaﬁaﬁ-

Descnbe the- ecologlcal adaptatmn of xerophytzc plants

av—omg?ré;g’mrﬁum’rmavmaﬁl _

Describe- the ill eﬂ'ects of alcohol

3FTSAIeT BfeRet 9T weprer et

Comment on Innate'_imli'lunity |




%)

18.

20.

What is micropropa
through this techn;j

gati | e o

_ 2
on ? What
are the mgj
n; ]
que - advantages of producing plan

ts

What is biodiversity hot Wri
at 1s biodiversity hotspot ? Write' down the names and specialities of two
such hotspots of India.

" Wﬁﬂ' mr:r f'Loﬁg Answer Type Questions

mﬂ?w’w2;'#'26.3?9‘3_#??#;@??i_ﬁﬁ:?a'maférm%';m%f?ﬂt’

5 3% FrefRe &1 gvv siftrsan: 120 71=T 7 g4 AWeg | A. 3x5=15
Qaeétion N;:)s. 21 to 26. are Long Answer Type'Questions‘ Answer any 3 questions. Each
guestion cd;rries 5 marks. ‘Give your answer in about 120 words. 3x5=18
2y, wae dode W U e el ‘ | 5

Write .an .essay on tissue culture. :

L ' : -
g : 3 frde B fEaT T EuE | 5

oo, yuirg Wl H O .

Describe fertilization in flowering plants.
3. A ST I T e ST .

Desecribe recombinant DNA technology in brief.
24 fra SRl < e i wikfeufen frafivet w1 v wE)

Describe three ecological pyramids with suitable examples.

-9009-DiEa| Page 23 of 24
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25_/ SdEr Fror dg Mt FRvE #) fafis fafual @t feeee F

i ! i \ ati ‘rol.
Discuss various mcthods of contraception for the population cont

y‘nﬁwmﬁqw% 2 S W) T GuR 1} gt iR wdr |

What is pisciculturc ? Mention its role in enrichment of our food.

Previous Pathshala






